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I 2x mwn: o7 related to necessary activities
a  AAamnot to sleep, talk or walk — he violates 51’ 8> (when he sleeps, talks or walks, respectively)
i Variation: if he makes a conditional 771 — my eyes are forbidden to sleep today if I sleep tomorrow:
1 (37 71 ’1. he may not sleep today lest he sleep tomorrow
2 jpn2 77 he may sleep today —he'll be careful tomorrow
(a) consensus: if he flips the condition, he may sleep today, since all agree he's careful vis-a-vis the 1T
(b) challenge (to 17 *3) from our mywm:
(i) must be: a case where he related the 771 to his eyes (else it is wnn 12 PrY 727)
(if) must be: where he gave a specific limit to his non-sleeping (else he is N9 immediately and we
allow him to sleep as per 13m '7's ruling re: W8 RHY® NY12WY)
(iii) can't be: a case where he prohibited sleep tomorrow if he sleeps today, since we have a
consensus that he is careful about the "o, so
(iv) must be: a case where he prohibited sleep today if he sleeps tomorrow, and he can only violate
51 91 if he slept today = we allow him to sleep today (as jnm "1 rules) >rejection of nmn’ "
(v) defense: case is if he went ahead and slept today, he is close to violating 5n’ ®Y by sleeping nn
(c) alternate reading (»237): didn't relate the 9 to his eyes (2 not really valid) and 5n 92 is 13277
(i) support: ruling that acting permissively in presence of those who regard such actions as
violations is a violation of 51 Y1 (clearly 13277)
(d) challenge (to 7w *9): v:1 mwN —if you go to father's house by in, you may not be nin1 until noa
(i) she may end up violating Yn’ X5 >we allow her to go to her father's house
(if) - we allow a fulfillment of a condition that catalyzes a 711 and aren't concerned that she'll
violate the 1T
(iii) defense: case where she went on her own (we didn't allow it)
(e) challenge (from next clause): if you go to father's house by nos, you may not be nin until an
(i) implication: if she didn't go before noa, she may be n»1m (even before noa)
(i) defense: we still disallow it, only 1322971
(f) challenge: if he forbids a loaf on himself today conditional to his walking somewhere 1nn:
(i) then: if he eats (today), he may not walk tomorrow
(ii) therefore: we see that he may eat
(iii) answer: it doesn't state that he may eat, just the consequence if he does
(g) challenge: it doesn't state that he may walk, but that if he walked, he violates Yn’ 1 (i.e. he may not
walk, contra nTi 29's consent that he may walk, since he'll be careful about the noR
(i) answer: it could've said 79nn, but parallel construction militates for o0
b A 19T not to cohabit with his wife — he immediately violates 5> 85
i Note: only if he formulates it that his enjoying her vwnwn is prohibited; else it fails since he is Taywn to her as
perv.1

www.dafyomivicc.org 11 © Yitzchak Etshalom 2015




